103#R%-% (1-31) FHfEER= &L * Kt —F4

18 472 2.917,070 = | 1 |™ ™ &¥Hces 1,630,470 =
(7 4p =4W30)
9 1 F 1,861,200 = | 2 |2 fee 60, 000 =
31 130,120 =~ | g |103 & &K% 436, 659 =~
i)
AR BIE - #
R AR R
B
5| MET RS 90,000 =
6 123 ?,%—5 ;%;———ﬁi Zh JE 152, 986 ~
TARFREES
7 |METFFAWTE | | 550 000 =
Foingt
8 a‘ﬁ Aiﬁ'E“—Z??%% A A& 126, 280 ~
S
9 iﬁiﬁ'?'—ﬁ?”,’é"‘ 4’720;1..
£
10 ﬁiﬁrﬁ?%% A g Rt 90, 000 =~
%, I
£33t 4,983, 390 ~ £33t 4,323,115 ~




103&%-% (1-37) 2 fFRAEEKS &L = TP o- T

H RS P ge
1 1% 2p f i#::l;;i * 100, 000 \Y FesE b33
2 1730 R EE QA 2,800 Vv e E A5 g
3 17 3p ¥ 500 v ER- N T FE 4
4 1% 6p il A 1,100 \% et b3 4
5 | 1760 PxF 100 v ForF Arh s
6 176p ) 100 v FE4E Aps A
7 176p e H 100 v FE4E s
8 12 6p R 100 v FEbE AR
9 1% 6p THRZ 1,000 \% FesE b3
10 1*6p o 100 \% et b3 4
11 17 6p 25 G 100 v Her | Ad 34
12 17 6p g 100 v R FE
13 | 1760 LGRS 100 v er | s34
14 1% 60p N 100 v FerE Es iR
15 176p R 100 v FE4E s A
16 1760 BEE 100 v e E At
17 1*6p P e 100 % sy s 4
18 | 17 60p g 100 v er | s34
19 1% 6p 2 0 1,000 \% et b3 4
20 1% 6p P it 4% 100 \% A et E b3t
21 1*6p 5 A 100 % sy s 54
22 1760 ik 100 v Fer R Es iR
23 | 1760 Eg s 100 Y ELF AoBb 55 A
24 | 17 6 Bk 14 100 v ER- N TR FE ¢
25 | 17 6p RS 4 100 v Her | s34
26 | 17 6p F 23 100 v Her | s34
27 | 17 6 A& 100 Y esF ~oms 554
28 1*6p 1B 100 % FEbE AE R
29 1760 7 e 100 v FerE AEs iR
30 1% 6p B3t ot 100 \% FesE b33
31 1% 6p E: 3 100 \% FesE b33
32 1% 6p ¥ Lt 100 v R FE
33 | 17608 LTS 100 Y ELF AoBb 55 A
34 | 1760 3 4T 100 Y ELF AoBb 55 A
35 | 1768 LY 100 Y ELF AoBb 55 A




36 1»6p o 5= 100 % EIR L
37 17 6p B 100 % IR F
38 17 6p £ 3= 100 % EIR L
39 1*6p k33 100 Vv FetE b g
40 1% 6p AR 100 % Ferg s 4
41 17 6p A % 100 \ ety 2t 4
42 1% 6p % AT 100 % Ferg s 4
43 1?2 6F ER4F F 100 Vv Fes |y B R
44 1*6p B R 100 % IR F
45 1*6p 1EG 100 v Fes |y Aphi g
46 1*6p ¥ A% 100 v Fes |y Aph gt
47 1% 6p 32 8 100 % Fery et 4
48 1*6p MEE IR 100 % IR F
49 1*6p mE 2 100 % IR F
50 1*6p Er 100 % EIR L
51 1*6p AN 100 % IR F
52 1*6p e 100 v Ferg s34
53 1*6p ez 100 v Fes |y Apbi g
54 1*6p VRt 100 % IR F
55 1*6p A 100 Vv FetE g
56 1% 6p Fl € 100 % Ferg s 4
57 17 6p FEw 100 % EIR L
58 1*6p R 100 % s E e
59 1*6p T 100 % IR F
60 17 6p = 100 Vv FetE g
61 17 6p At gz 100 % s E e
62 17 6p AR 100 Vv FetE g
63 1% 60p I 4L 100 Vv s E e i
64 1*6p T 100 % FedE Apb A
65 1% 6p HEES 100 v s E A3
66 1*6p LT 100 % s E e
67 17 6p el 100 % IR F
68 17 6p R 100 % IR F
69 1*6p EANE 100 v Fes |y Aphi gt
70 1*6p Fl 3 X 100 v sy s34
71 17 6p RE 100 % s E e
72 1*6p % E 100 % FetE g
73 1% 6p + TR 100 % Ferg s 4
74 1*6p B A= 100 % FesF pb A
75 1*6p BT A 100 % FesF pb A




76 1*6p e 100 v FesE Aph g
77 17 6p HEF 2 100 % EIR L
78 1*6p P 4L 100 Y E I
79 | 1760 i 100 v FOLE A4 54
80 12 6F MF T 100 v ety 254
81 1% 6p e 100 v Fes |y Aph g
82 17 6p T EF 100 % EIR L
83 | 17 8n EE%@“I;AFM EEL1 800 v FEAF Es 5 A
84 1*8Fp ¥R R LA T 30, 500 \ ety 2t 4
8 | 17 9p |Mrckdap:E2l 4| 4,300 v b F A oph 53 A
86 | 11 10p |° F%Hi% TR 9 500 v B A
87 | 17 100p EW’%% HEEF 4 000 v B A
88 17 10p R RAFCRL A3 e 5, 870 \ Fesg 2t 4
89 17 10p % e 500 \ FesE et g
90 1% 10p PR ar & 31 4 4,200 v A IR FR 1
91 17 10p £ ki 500 % Ferg et 4
92 17 10¢p H#ErE 500 v Fesg 2t 4
93 17 10p L HE 500 v Fes |y B R
94 17 10¢p ¥ B Az 12,000 \% EER A
Gl Rl <
95 | 17 10 3 12, 000 v FEF Am g
Bk 78 31)
9% | 10109 | F’_%”‘T‘T‘i 15100 v e E A
FRE SIS R
N A A |
E~F2® -Hd s -
97 12 10p |#kB3k- -BpkE -~ @ 5,500 \% Fesg 2t 4
RF -~ el 11 4
39,500 ~ -
(é eEER)
AT e
P LN FEmF
98 1210p [2~Z2WG - F2@ 500 Y s E Aps g
%544 100 =& o
(5 X RFEAL)
99 1 13p HE = 20, 000 \ et 3 %
100 | 17135 |A¢restin®®E 974 14,200 v A IR F R 1




B
>

>\

Bh bk GRS

101 | 17 13p 67 113, 200 v B F A5 A
02 [ 10139 |* W%“g@"iﬁ FEEL 90, 000 v b R R
o
103 [ 1" 14p |z@nadsERa 8| 2200 v
104 | 17 14p LR R 1 600 v
105 | 17 150 | AR~ fhR 7 500 v O A5 A
ESR: SR

106 | 171748 H@’ﬁi;z: %1 350,000 v o4 s 554
107 [ 11 17p |R%k#E 282 E | 50,000 v O F A5 A
108 [ 17170 | - %E%EFAE | 27,000 v O A5 A

31k e 2 200

A gle R100 &

i %5 500 & 35

%500 =~ £ 4% 300

o~ FEREF 200 >

300 % v AR
109 | 1% 17p |%300 =3k 4 3000 3,500 v e F e 35 A

AN BREE® 100 & -

Mo F100 & - 34 E

4 100 =~ R4x £ 100

A s ki 100 & s

3¢ 100 ~ ~ h= 4§

100 = %37 100 ~
110 | 1% 17 p 2 gt 2, 000 v ik

MBE A o7
11 [ 17200 [ ~&FAE¢mIPF | 36,000 % v E Ap g

w30 =R
112 | 17 20p 5 B g 12, 000 v ik
13 | 1020p | ETETEEFT 00,000 v T L
114 | 1% 21 p = e PRt 900 v Fes |y Apbi gt
115 | 1 21 p AL F b 24, 000 v Fem o &
116 | 1 21 p e 12, 000 v Feom o &
117 | 1 21 p LA 24, 000 v e P %
118 | 1 21 p &= 24, 000 v Fem o &
119 | 17 22p g 12, 000 v e P %
120 | 17 22p e 500 v Fem o &
121 | 17 23p A 1 24, 000 v e P %
122 | 1 24 p S 12, 000 v e P %
123 | 17 240p EFi2 2,000 v P




124 | 172409 Gy 3,200 Vv e p S %
125 | 17 24p FhE # 30, 000 Vv Fohsn g %
126 | 1% 28 ¢ T A& 10, 000 \ AR o | P
127 | 17 298 5 190 2,000 v W & | T
1% »&3+ 2,917,070 =~
1| 29708 § 12, 000 v Ferm g %
2 2% 7p B 4 10, 000 v s 3 %
3 | 2770 i 20, 000 v Feom o %
4 [ 20709 Er 20, 000 v Feom o &
5 22 TP Bk i 20, 000 v s 3 %
o s 1 4 Kf\l N\
27 100p FER 4,200 % Fe4E pb A
2712 p e R 6, 000 Y
2718 p it b 6, 000 v
10 27 200p A BRI E 10, 000 v s 3 %
11 27 20p | st Bk S ¢ 10, 000 v s 3 %
12 2% 200p AR 10, 000 v s 3 %
13 27 200p ERE 73 10, 000 v Fes s g &
14 27 200p A 10, 000 Y% s 3 %
15 | 2 20p LR T 50, 000 v TP S
16 27 200p L 5 50, 000 \% et 3 %
F ARG D
17 | 20g0p |FREERT 100, 000 v Koo o &
BBB = .u EDgE S £ I
18 | 2r20p |MFFEERT 100, 000 v Ko o &
19 P21 p LG 353 5,000 \Y% et 3 %
20 P2l AE2ZF AP 500, 000 v T RETS S &
21 12T p e 888, 000 v Fesfp oL
273 > &3 1, 861, 200 ~
T3P £ =N 300 v R o | BE
T3P £ =N 300 v R o | BE
"4 p e 24,000 V e g %
=y /’r"‘::, WL N\ A ' N
1| 355 |MFT o7 30, 000 v 30 24 SLBL T R B
6) 3" 5P IR A 2R 2,212 \
6 37 10p FIER A 2 308 v
T 3 12p g A 5,000 v
8 |3 127 B 5,000 v Feom o &




ORGP g
g | 31140 - "’&”E 60, 000 v TR S
10 | 37 267 e 3,000 v
37 i»éE3t 130,120 ~




